i?}{i_ & ﬁs&?w {@ R

SPACE FOR ROUGH WORK / %= oM ¥ R wie

Rl SRR

i

B

yestion Bookiet Number

m
X
{3

Marks : 158

: 3.00 €2/ Hours
INSTRUCTIONS N :}“*’

LR 4]

crriba ] 7
O / Maxi

1. Please corractly fill your Roll Number in C.M.E. Sheet. .
ndidate will themself be responsi 0 or filling wrong | 1. ST ST TSl TR S31.0H. SR, TR W SEHET gd o
2 j’:\? ii’r*zé O“@ar* of the examination befors attempting ¢ N WIWW i Jﬂw g .
- {%ﬁééi on paper kindly check your test %500*2! t and OMR EARC = 9 “{f? TR TR B B -0 Sﬁ_fm k&l

Answer Sheet and ensure that ‘ ST AN, THIF i 9l g & =g ghafves s B

* The serial numbers of test booklet and OM WY e TE SIL.OH. 3TN, IO % i U wEE §

-y .

/ 7

g

=
e
)
3
B
2
(0]
s

ﬂieet e samse.

* Al pages of test booklet and OMR amw i sh
oroperly printed. All quesi!ons from 8 f\o 4 last
5.Mo. 150 are printed and pages from S.No. 1 {o last
8. No. 18 are there in the guastion booklet.

n case 01 any discrepancy / defect the candidate should

imme gtely report the matier to the .m/g!laior for

cement of test booklet and OMR answer sheat. No

/ Oij; stion in this regard will be enteriained after

e (D

¢
i}

five minutes of start of examination. Candidate will be
liable for it

Answer all guestions.
i guestions cairy equal marks.

Iy o“e answer is to b@ given for each guestion.
If miore than one %nswmr” are marked, it would be

o o1 P i
o)
:g;

T AT W ST STR, SO & el e T ol g
€1 o g 9, 4 eifn s 150 7 Tl T Hhen
afd ¥ wd Wl g e 4 § 18 o eE §

et off yeer W fadnfa B9 <yl E W ge-we qfites wd
HITH. AR, T S e e s 9 g st &
gl yRe B % 5 foee & gvEn OE ffi  fed 2d s emfa
o fomr @ fen s sad wese et semel 2 Bl

oy e & e gl

gl uwl & ofw wum ¥

Y U T HEe U § SO Sy

UZ R IW AT 9 g ¥ v % S & TR TR SR
U U ¥ U dsfeus s Ry o ¥ S wmn

freated as wrong answe

7. Each gusstion has f four a%terraiwe responses marked (B3, (B), (), (D) sifsa fen o ¥ anmell =1 ol T
serally as (A}, (B, {C], {I2}. You have to darken only ~ s e N PR s e m T s
ong circle or bu%:)b!e indicating the correct answer on N Hvﬁq m ié)?ﬁ O iﬁm ST TSR
%he Answer Sheet using BLUE BALL PCINT PEN. T A wler W W ¥ W ST ¥

8 /3 part of the mark(s) of each question will be | 8. U= ToT S =1 U¥ 3% & /3 97 SR S9T | ﬂaﬁg‘fy{ )
deduciee‘ for each wrong answer. (A wrong answer G e aRE SO W B e A ouw 9 o e § 3

means an incorrect answer or more than one answers

for any question). 4. i!@lls;d B/ sepg foamen swrm eleafaes A T qhen %Tﬁ
8. Use of Mobile Phone/Blustooth Davices or any other F e qﬁﬁm afsta €1 ul Brdt el & ory e @
electronic gadget in the examination hall s sii cly A feerdt @ T 3o e W1 SR FRETER R ST
prohibited, If any sich prohibited material found w'tn
any candidate, sirict action will be taken against him/ kil 3‘5 N fi o - . o e
her as per rule. 10, afe el uva % el ud il woredl F Bedl uew e wE
10,1 there is any sort of ambiguity/misiake ei hea of HEOT ] AR TERR ST i €1 a1 e sy S ey ue
printing or factual naiure in Hindi and English Version .
of the question, the English Version will be trea Led as N . . .
standard. TETEHY S FHE STl TeReT R USET Sl § A SR U 9
ERREC IR e Cl T ai’ﬁ %é’m af, when wafe W den ww O ¥ whend) g« i 2 gandidate is found copying or if T | e s Sl ST 3 anadt % e o F wefie
un&u horized material is muﬂc in hisfher possession, F.LR. = .
Bl iy T R ¥ Demere i fray
T T F A Rt 'c?f?szs & /W, wlfenelt we Rl Ry W o oY | Qe wo would be lodged against him/her in the Police Station and | ° O T SR e srgfen qmAl 9 dwaw s,
he/she would liable to be prosecuted under Section 3 of | 1992 %! ¥m 3 wd 1€ WK’-*S A % e el s swerl | g €

T e qftr S SR 9 T W, fE”%H??e gy & gl i § & AET ¥ AN T qear ”"gié“@f% ’ ’gre %{jﬁ%& ?%’@fvz@mmn of &;n?ai? z"s‘%e?ﬁs Act, 1992 and | oS 0 el & wfien & o gt 91 3% T whened @ Sl
37T . , 1 Board Regulations. Boar may also debar him/her | oo oo s

w w5 W | il m wh Y o W d permanently from all fulure examination of the Board. R
T adar it = wE W wR WS G e W S 1/ Do not open this test bookler until vou are asked to de so,

[PT.O.

[l
<3
o~
D
L
ot
R
[

67 (1931)] 4 16




[

Pradhan Mantri
restructured by in

including -
{A) Weather Based Crop Insurance Scheme
- {(WEBCIS) _
(B) F‘f@diﬁﬂ} National Agriculture Insuranc

Scheme {\sﬁeﬁu,

(C) Both, Weather Based Cm@ Insurance
Scheme e"WQdS) and Modified National
Agriculture Insurance Scheme (NAIS)

(D) Rashtriya Krishi Vikas Yojana
TR Hae S e o fehe anie e gerien
ooy T ¥ 7
(A) 9rgw amania va Ts?rqi g (WRCIS) =
\b) it sl iy g s &

(C) E?m'q YT B ‘@?ﬁﬂ A (WBCIS) 8k

'{TC@QI@ fy Sy 1, TFl &

(D) '(TQQT! gﬁq TesTe ST Bt
When was Pradhan Mantri Fasal Bima Yojana
launched in the country 7

397 ¥ gHEE HEw éﬁmtﬁwma@aﬁﬂ“‘aﬁ?

(A) February (wgEd)), 2016
(B) February (‘-}T{Erﬁ) 2017
(C) Eebma"y (wead), 2018

(D) February (wyad)), 2019

hich of the following statement is NOT correct
about Pradhan Mantri Fasal Bima Yojana ?
(A} Farmers pay only 2 percent premium on
insurance of khar:;f crop.
(B) Farmers pay only 1.5 percent premium on
msurance of rabi crops.
(C) Farmers pay only 5 percent plemzum on
commercial crops.
%p;){ No subsidy is provided by Government,
T BT JEFES] HHA ST IS
SR wd e Y _
(A) fram @l o waal & 9 % R dad
2 yfaer E?rﬁwq T B
(B) foum &1 & wuel & 991 & o Seaw
1.5 wfaerr it &9 ¥
© scww YIS Gl & S & WY bew
5 wfer T E
{D)W%Q‘{TWW_@%@W% |

What is not true about Prime Minister Crop
Insurance Scheme ?
(A) Under this scheme compulsory insurance
of crops of farmers of enlisted area is done.
(B) Pro éoortxonate contribution as assistance is
by the State Govt.
< ?n%uranﬂe of crops of farmers of enlisted
area is done voluntau
(D) Both, Under this cheme compulsory
insurance of crops of farmers of enlisted
area is done. and Proportionate contribution
as assistance is paid by the State Govt,
TS P S A 6 S oo w7
(A) 39 TS % oFeria gaies &9 o HEw S are
fenerreil <bt weren ot e srfremd w9 R s ¢
(8)3}? %@ oY LT AT T S19Tem TRl &
7 fea W?ﬂ N
<C)§f§ ax o W%_GTH% EIGREISIEC i

(D}wm%m TEEE &N ¥ BOA ST

WW&%W aﬁmaﬁ‘ﬂrﬁw%w

| &I g@ %3 ku( I;’PT EER
aammcﬁwﬁ%m
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in how many districts of Rajasthan National
Horticulture Mission is bemg implemented 7
ToRE 3 e Rl T FETEE iy e

fomar w1 wT % 7

(A) 32 (B) 28 (C) 24 (D) 16
Mahatma Jyotiba Phule Mandi Shramik Kalyan
Yojana was launched in Rajasthan in -

RERIEIE I e T Ei i i e i i

TS B L BT T 7

{Ay 2010 (B} 2012 (C) 2015 (D) 2016
Pradhan Mantri Krishi Sinchai Yojana was
taunched on -

(A) 18 fuiy, 2015 (B) 1% July, 2013

(C) 1% June, 2012 (D) 15t May, 2011

gereE iy Rrers dre @ AR v Y

g o |

(A) 1 @, 2015 (B) 1 weng, 2013

©) 1sm, 2012 (D) 1w, 2011

The expenditure on agriculture research and
education in 2018-19 in Rajasthan was -

TR A gy 2018-19 F iy argdys qur fen

T &g O -

(A) T 30672.05 lakh (vm@)

(B) ¥ 26689.98 lakh (wr@)

(C) ¥ 23991.96 lakh (vir@)

(D) T 21867.42 lakh (wr@)

Which is not sub-mission of National Mission
for Sustainable Agriculture (NMSA) ?

(&) Rain fed area development

(B) Climate change and sustainable agriculture
(C) Soil health management and soil health card
(D) Disaster management

Y feants Sl e % oTTa i a1 ga-fer
wftafag =@8F & 7

(A) awi emenfea &= R

(B) vieamg i@ aon fears adr

(C) qa1 wrey e TE AT @R Hie

(D) erraer weees

In which year the Agriculture Insurance
Company of India was incorporated ?
Wg&r@mwmﬁwmﬁmm‘ﬁgw ?
(A) 2002 (B) 2001 (C) 2003 (D) 2004

The share of Rajasthan Government in funding
of National Food Security Mission (NFSM)
since year 2015-16 is -

TS @ gEn e % T oo F o 2015-16
Y TR @R H Ew ¥ -

(A) 40% (B) 60% (C) 75% (D) 25%

When agricultural census is conducted in
Rajasthan ?

(A) Every 10 years
(C) Every 3 years

(B) Every 5 years
(B) Not regularly

TR & Py T B B wren &7
(A) 9 10 a9 (B) ufe 5 =
(C) vl 3 =9 (D) Fraftm =

[ PT.O.
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Calculate the number of items (M) for which
- 2
N on B e — IO e “
r=+0.80, Zxy =200, ¢, =5a
Where x and v denote deviation o
actual means

N o oOf

wel @ gEm (M) g @ng, O o= +0.80,

e s o2 tan ) e :
Zxy = 200, oy =5 wg 2x” =100 ¥l x ug

y ¥ o e wen ¥ R o e 9 Y

(A 100 (B) 150 (C) 25
If Zx=50, Xx=35
Zxy =350,
y =9, then the regression coefficient of x on
Y is -

afe  Zx =50, y=6,
Zxy =350, x & 99T = 4 QW Y & §Oer =
9% @ x W Y U W T T -

(A) 0556 By 125 (O04 (D1

Iy=60, 7=6,

variance of y =4, vari

T=5 Iy=60.

Fisher's index -

(A) has upward bias.
(B) has downward bias.
(C) free
(D) satisfies unit test and circular test.
et & gEemis H -

(A) Sl af=fy gl &

(B) = & ol aiftmia siar ¥

(C) oiffe & wes grar ¥ 1

(D) 3@ To1 @iy TUET @ TRT Bl §

from biasedness.

Bowley's coefficient of skewness is —0.059,
Q1 = 58.24 and Median = 61.80. Find out Q5.
TR R e = —0.059, Q) = 58.24 efw
:{mam(M~61.,gs%xﬁmr (Q}“ﬁ'&'a%%w
(&) 6497 (B) 58.93 (C) 53.27 (D) 49.33

If population standard deviation is 12.5 and
sample size with replacement is 10, the standard
error of sample mean with replacement is :
o o w1 ym e 12,5 ofR grreufen & Wiy
yitasl omerR 10 ¥, oF yeraiosn & wry ulwel mey
1w fe B -

(A) 3.80 (B) 3.85 (C)3.95 (D) 3.89
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Mean value theorem was lrst used by
{A) Rolle g

(CY Taylor !

o LnY

LI Y UEE 97C § FEETE B o
. 3 [ -

(A) T (B) @i

~ — D

(C) ewe (D) O

Which is not a

cosfficients in a simpl

(A Both regression
algebraic signs,

(B) If one regression ¢ efncéa‘
mx, the other should be less t

(Cy Correlation coefficient is the arithmetic

of two regression cosfficients,

{D} The a;g@b%;c sign of regression coefficients
show the direction of correlation.

e TATEA A1sd o UAOTES O Gl Rsiven

B

(A) a9 vl et & demi e e
S

(B) Wit U@ YOI S @ 6 U% U SIS §

o)
=3
&
o
&
=
&9
et
&

mean

T g BT U UH Y B e
(C) 1 TR U BT G A1 Ty
oTE B ¥ |

(D) TR uTiest @t ST fe veeey @
f&em @i qorar ®

=22 and r=0.80.

v and ¥

Given : O, = 4.4, {9,
Find the standard error of estimate x
e o, =44, 6, =22 &fx r=0.80

SFHT B T faEE x ol p T Sy
(A) 1.69, 0.42 (B) 2.64, 1.32
(C) 3.34, 2.19 (D) 4.66, 2.89

For proper representation of population in cluster
sampling each cluster is further sub-sampled,
then the resultant sampling scheme is known

as-
(A Stratified samplin g
(B) Systematic sampling

(C) Two-stage sampling
{D) Purposive sampling
Ttz & 3faa w9 ¥ wga e & e ol T
uirerm o 5T 0% e ¥ geedl o g e Wiy

a1 s vigme Rl eeareft -
(A) WG viaeaw (B) maes wiaaud
(C) sr-atw wiomad (D) 9Ryg W
[ PT..
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One card is drawn at random from an ordinary
pac‘k of 52 cards. What is ”“‘18 probability that it
is either a heart or 2 spade ?

52 @9 % wEl % we were e Y o oen Rewr
T YE W W UM W OEHE B D, TEe a
ieRaT T 7 ‘
(AY 172 (BY 14 (C) 2/3 D) 1/3
Ifliy =16 and pi3 =12.8, then the «gé? will
be :

Ak iy =16 @ py =12.8 &, @ B, @ am

(A) 0.3 (B) ¢ (C) 0.74 (D) 0.66
hree unbiased coins are toospd what is the
obability of getting at least 2 tails ?

ﬂqﬁ%&:&%%mm% W%WZW%W

S BT g wy ¥ 7

A 13 (B 12 (© s (D)3

There are 8 Red balls, 7 blue balls and 6 green
balls in a box. If one ball is taken at random,
the pmoabhny of getting neither a red nor a
green ball will be :

TH T § 8 W e, 7 el Aw ofv 6 v g ¥
afy arghess &Y § T e R st Ay 7 & w
IR T & T A & P @ TR S

(A 719 (B) 2/3 © 34 Oy 113

For a binomial experiment, iha standard

deviation of the distribution of the number of

successes is 3.6 and the pr obabzhfy of successes

is 0.40. What is the mean of the distribution of

the number of successes ?

T faue wam & fng, wweare @ g % e

T REe 3.6 ¥ iR wnw B e wilmee

0.40 % xwmaﬁﬁmés%’amwm

arey e ?

(A) 144 (B) 3.60 (C) 6. G(} (D} 21.60
Which method is not used to caicdate the

weighted aggregative index ﬁumbefs ?

(A) Kelly's method '

(B) Marshall-Edgeworth method

(C) Fisher's ideal method

(D) Simple average of price relatives method

o & fafr e agd gawtet @ T ERCS]

wE B ¥ 7

(A) e fafy

(B) meiw—weray fafty

(C) Taert amast fafy

(D) wim @ e wey fafy

29

30

31

32

28 Two cards are drawn successively without
Y

replacement from a p&sr{ of cards. What is the
chance that they will be aces 7

T B TS F %f*‘fq%f{r;lqarm%fs%mg%w‘m
mﬁﬂj‘ﬁ“ﬁﬁ‘fﬁ‘*ﬁ% o e 8 e 9 @
ECEARE I

4 v 12 1/ 7
@ % ® 1%, © Yy o 424

A function hav;rg constant base and a variab
exponent is known as ;

(&) Exponential function

(B) Logarithmic function

{C) Power function

(D) Polynomial function

e we & R e o ww e 9, % weew

[

¥
(A) TowioE G5 (B) WYY Ge
(C) sl wee (D) gy wew

Measures of skewness are based on :

(A) Averages of the first order

(B) Averages of the second order

(C) Averages of first order and second order
both

(D) Only on measures of central tendency

T % =g el € ¥

(A) vae 3ol % =reai wx

(B) fedm 9ol & wreaff oy

(©) vem au felm <=7 AR & mreadl o

(D) aw Hfra g % Wt o

Arithmetic mean of Laspeyre's index and
Paasche's index gives :

(A) Marshall-Edgeworth index

(B) Kelly's index

(C) Drobisch and Bowley index

(D) Walsh's index

YT SR W F queie & guwR e e
g

(A) meE-—gorad qaeie

(B) &l @ yeesics

(C) sifeer 7 wrea o1 gusis

(D) arest &1 gEwin

If events 4 and B are not mutually exclusive,
then proba’b;hty that either 4 or B occurs is -
afe wead 4 ot B wrwR e ¥ ey
Al A o B % i € @ wifeer ey —

(A) P(AU B)= P(4)— P(B)
(B) P(AUB)=P(4)+ P(B)- P(4N B)
(©) P(A4UB)=P(4) - P(B)+P(AN B)
(D) P(4u B)= P(4)+ P(B)

[ PT.O.
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Find the value of *¢°, if variance of X = 4.7,
5.0, of ¥ = 2.6 and regression equation of X on
Yiis: X =095Y - 6.4,

SRR UG TG SIWY, 8 X TE = 6.7,
Y @i v e = 2.6 Sl gmeee gum e X

2} P 3,
FY A : A =095 —64% i
(A +03.56 (B) —0.50 (C) —095 (D) +0.95
Find out coefficient of skewness, if é =rence
of the two quartiles = &, M = 10. 5{3 um of

two quartiles = 27.

forwsan o T @we, afe 59 QW TgUel @
gt = 8, wement = 10.50 qur a9 Tgde! & a9
=22 % |
(A) 0.125

Coefficient of correlation between two variables
of X and Y is 0.28. Their co-variance is 7.60
and the variance of X is 9, find the standard
deviation of Y series.

(C) 0.498 (D) 0.572

(B) 0.363

X & Y < =wl § ue-awy e 0.28 ¥ 1 T

g ge-fererwer 7.60 ¥ g X 9ol &1 Reww 9 %,

@Y 9o @ waw foues o iR )
(A) 6.05 (B) 805 (C)9.05 (D) 10.05

The probability of football team winning the

3 . ;
— and losing match at

match at Jaipur is 5

2 . T -
Bharatpur is TR What is the probability of the

team winning atleast one match 7

%@Rwﬁﬁamﬁmﬁaﬁm%lwfm
%w@ww%%ﬁmm% ?

2 81
Wi ®x ©Of Of
If population is normal, the standard error of
standard deviations is defined as -

I I YA © A yE R @y g @6
i By g

S S "E m 2
(&) J‘% B8) i © v O o
if standard deviation of population is 13.11 and
™= 160, then value of standard error of mean
is -
afy T=y & we Reew 13,01 % 9w N =100 &),
W AT W T Y H A T -

(&) 1311 (B)131.1 (©)0.1311 (D) 1311.0

67 (1931)] =k
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49

41

42

43

3

caicu
S Yy Pl
& iwm ST B Widast
Y Fﬂ«fm%?o“
(A o) o N-n
FE D 3 T

%3 }
LRV X g N
o ™ S
AN IR

if standard deviation of mpa%a‘w is &,
population mean is 25, sample mean is 23 and
level of significance is 1% (for 1% level of
szgmﬁz:ame z = 2.576), the sample size wouid
be -

aﬁwwmﬁw 6, gv @ Wi 25, whesd
e 23 g gided w1 1% & (1% wrefsar 1 o1
z = 2.576) @ WiaEsl SR T -
(A) 60 (B) 50 (C) 65

If an event B has occurred and it is known that
P(B) =11, then conditional probability P(A/B) is
equal to -

Tft B we bied & g9l & ol % @ § T P(B)

= 1, & P(A/B) w1 awiaeser griiesar SU€ €7 —
(A) P(A)

B)PB) (O] (D) 0
Ifr=064 and probable error is 0.1312, then
value of N is -

T ¢ =0.64 qen weren fayw 0.1312 %, @ Noaw
TF BT -
(&) 10

o

(B) 9 ©) 3 (D)5

In weighted average of price relative method of
construgting index numbers, the weights are
taken, as -

{A) Base year's quantity

(B) Cirrent year's quantity

(C) Value of the gquantity in the base year
(D) Value of guantity in current vear

s O B T geared it 7 o W
T E -

(A) enear oy @ A

(B) = = & mEn

(C) enurt oY & A B TR (SqE)

(D) =7 ¥ & A W g (W)

av)
weg
@
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44 When the frequency curve of distribution has a

45

45

47

48

49

67_(1931)]

longer tail to the right, then it is called -

(A) negatively skewed (B) positi veﬂ/ skewed
(Cy symmetrical (D) mesokurtic
E%Wfﬁ‘ﬁ"‘?ﬁ%‘?{% 5 % e AT ym
S HEd ¥ -

(&) = favaar (B) g7 o
(C) uafm (D) "egien

When two regression lines coincide each other,
thc-:n the value of correlation coefficient is -

S W GRTEE YO U g6 @ e% o o gedey

Waﬂwé?'%

(&) r=1

B) r = ~1

(O r=1aya/orr=-]
Dyr=90

If two regression lines are : y=-2x+3,

8x=-y+3, then value of correlation
coefficient will be -

Tl & R Y 56 YR By =254 3,
8x=-y+3, H?HW&HWWW'@TU~

1
N -
A 05 (B~ (©-05 (D)0
For a binomial distribution, if n =4 and P= %,

then the value of variance is -

Redh five w2 % Rro, af g = 4 qen 2 :%@,
A TR W e -

oy L
D) 3

N B o
()3 (B) (}3

9
Variance of a binomial distribution with
parameters n and p is -

n S p e YT % TEUE S o YR BR -

(A) np? (1-p) ®) Jap(i-p)

(©) mp(1-p) () n2p2(1-p)?

If all the observations are multiplied by 2, then

{A) Standard deviation will be multiplied by 2.

(B) Variance will be multiplied by 2.

(C) Coefficient of variation will be multiplied
by 2.

(D) Szanaard deviation will remain unchang

Ay gl srEE Bl 2 A em et ¥ a -

(A) ver9 R 2 9 Tom e g

(B) "&wer 2 9 7o gm

(C) Tt Toties 2 @ wow B

(D) v e mﬁaﬁi’a W |

52

The ¥ on x regression equation is correcty
writien as |
- . )
X U Y O ST U o 9l vy Y e ¥
(&) V=X
Ox
IV e ST
(B) ¥x—X =1 (y—=3)
oy
(j"i
5 T e e s P
Q) y=F=r—=(x-7%)
Ox
oy
S ¢ —)
(D) X=X =r—=(y~7)

When regression
then:

(A) Regression coefficient is zero.

(B) Correlation coefficient is zero.

(C) Intercept is zero.

(D) Correlation coefficient equals to one.
S TR YT gw g & e ¥, a

(A) YR UG 7 BT ¥ )

(B) veu=ry TG 9 BT §

(C) ore@vs s BT ® |-

(D) weaws=y Tl 551E % §UaT B T |

line passes through origin,

What is not true about Poisson distribution ?

qfreT de B aR ¥ e e a8
A8 4 =0

(B) Uy = mean (q7em)

i

fi = s

(©) =
N Mean (wmer)

el

If C is a constant number in a continuous
probability distribution, then p(x = ¢)
always egqual to

(A) One (B) Zero

(C) Negative (D) Infinite

aft U waw Wiear de ¥ C 0 Ryt demr 3, af
p{x =c) T gm
(A) 1 (B) s (C) 7w (D) o

[PTO.
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As per ﬁmvi“‘%m I data for Agricuiture Census
2015-16, the total number of operational land

holdings in E%aja sthan was :

T wﬁﬁ”fa‘ﬁf 2015-16 wrereies ool & o
T ¥ W Teea SaeTie! B gen 9
{ﬁﬁ 75.4 lakh (@) (B) 80 ig
(wre)

(C) 76.55 lakh

The concept of sampling ratio is used for :
(&) Determination of sample siz

(B) Determination of population size.

(C) Determination of sampling error.

(D) Determination of non-sampling error.
aftrere U W STEUTen W Swan fiees Y
(A) virest s @1 e |

(B) €HT ST &I Lo |

(C) witwmas e w1 Frai |

(D) Fx-wfveam Ffe & Frafo |

A number is chosen at random among the first
120 natural numbers. The probability of the
number chosen being a multiple of 5 or 15 15 :
T 120 Tgioes SEmsl W ¥ Ue 6E qigiee WY
¥ g T 159 g T gen % 5 A 15 @ e
T @ W §

1 1 1 ) 1

- By = Cy —r 5) N

In a single throw of two dices what is the
probability of getting a total of atleast 11 ?

3 UTE B TH IR e 9T B ¥ H9 11w A
T T TR © -

WY ® Y% © ¥, ® %,

The error emerging out of faulty planning of
survey are categorised as -

(A) Sampling errors

(B) Non-sampling errors

{C) Absolute errors

{D) Relative errors

yiest-wde & Priem ¥ el & Hw g w
T -

(A) ufrestt Ff=
(C) Freoe e

(B) r—wfeastt e
(D) wmE 3
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(AY D
(B) Defini
e
{D) Fillin :
T @% Uwr & wiveel Taeer % oTe
o ey apEieg wE e %?

(A) STyl ® oreaie B

(B) @5y & whealg &

(C) uiream SRS @l ESIE

{f}} YTl @y ‘{% CXEiEl

JEUU S| .

Who introduced the subjective approach fo
assigning probabilities 7

{A) Frank Ramssy (BY A. M. Kolmogorov
KD\JE Cardon

(C) R. A. Fisher

wiferarel & Te B ¥ aiRruTe gheent ’
fm 27 ' .
(A) % =Y (B) U. UA. HIeErE

(C) &me. w fBer (D) . BT

Based on the mathematical ‘Euao*y of probability
states that a moderately large number of

items chosen at random from among a very large

group are almost sure, on the average, to have

the characteristics of the large group.

(A) Law of statistical regularity

(B) Theory of optimism

(C) Law of inertia of large numbers

(D) Theory of validity :

Tt & T R T e TE
s € 5 i fadl 957 98 o9 ¥ € 9 uihwem
B0 g @y ¥ 2 wer ¥ v o sl @l g
s & T e e & ¥ e 5 el 7 ot
w9 I9 T W B IO o Sl

(A) wifea Fratma Frem

(B) anemeng w1 RaEr

(C) wreis wear e

(D) Jum & fasr

Which of the following is not a random numb
table 7

(A) Tippett series

(B) Fisher and Yates series

{C) Weatherburn series

(D) Rand Corporaiton series

e % 9 B O T3 ofe arfve T E 7

(&) Tz gl (B) feew 7 Tzw oo
(C) <etam gy (D) 5 BT 9

[PTO.



Sraphi
¥ H Fa—.
ther mdw and units m@au;f
are selected in predeterm
fied sampling

stematic random sampling
D

- D
gay o wdy Hel W 9o,
[s

£

‘ Jriferes,
T W o RSl aTe T 7RSS ih 9T
¥ gE el wer o seal war gl ¥ weef §

g 5’%[ el % i
(A) wfa Bragfa (B) sg@iw Frdw

(C) =5 fresl

64 Ten coins afre {hmvm simult
probabiit: is
a‘@%‘@ﬁwmavwaw aim‘%w 7%
& WY TR ¥

) L gy 120 o 45 2
/ 10,24 (B) 1024 77 1024 )4

65 If the probability of success in a Bernoulli's
experimént is 0.40 and the test is repeated
40 times, then the standard deviation of the
number of successes obtained in this experiment
is approximately :
A I W O UeE B @ wiiear 0.40 ¥
ST FOT @l 40 ST e T ¥, O weedel @l
T @t v e 59 9Ar ¥ WO 9T SR
(A) 300 (B) 3.61 (C) 3796 (D392

1

66 The study of inferences about the population by
use of samples is called :

(A) Designs of experiments

{B) Theory of decision

(C) Statistical inference

(D) Theory of large numbers
E’Pﬁsﬁ%mﬂmm%@ﬁﬁwweﬁ
(A) et 3 e
(C) wifmeprr frofy

(B) Fii o fasia
(D) = SRemer w1 Rrgier

67 If r=08, Jdrar=60, g =25, J dv’=
then the number of items (M) will be :
i r=10.8, dedv‘:ﬂh S, =725, dez =90

B, & ual @ g (N) Bl

(Ay40  (B)25 (C) 10 (D)0
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comes under which

tel

e

D
$

o
Lhi

{

e gt
e
o h

[N NN

o

{ e B 7

% £ (\ ) b 0, Yy

A ey T (B) sieaus alowas
C

) WiRyw uleeE (D) ufesfm g

’ 0»'5 ?the mi%sw%ag zz’;ethoés of ‘{zmcm*ig

veny @'{Gﬁs;vﬂ 5‘;@'

céscaﬁf;é and conscies

rmation thz‘oagx
emum@mmrs

(B) Direct personal cbservation

(C) Indirect oral investigation

(I¥) Mailed questionnaire method

= 8 om @ wale ds-dus Ofy wegee

ST Pl AR S 8, 99 OISR 8% wEd

foame &t e erfyeat dyEe Al © oo e

&% Ul srTEs B 7

(A) wroren] BT mgq\mm % WTerH ¥ gEe winy

(B) v =IRRTd SIwie

(C) wwme difEes ST

(D) T/ BT USTTEIEEl ST

Which of the following is not correct for normal
distribution 7
= d @ ggmrw ¥ 9 & g ¥

HEAE 7

L

THA

W mp=0 (B H3=0
© B = () By =3

The mean and S.D. (@) of standard normal
variate reggectwesy are

A YA = & mw@r{mr‘%ma* (o)
mEeT ¥

(A)0,0 (B0, 1 (Lo (DL

Laspeyre's index number is based on -

{A) Base vear guantities

(B) Current year guantities

(C) Average of base year
quantities

(D) Both current and base year guan

TRUTT &1 Geehich LI 6 -

(A) sme a9 @ AEne Uy

(B) =y oy @ Awney Uy

(C) s =y SR =re o @ Anmel & ol w uT

\,,)érﬁf’emia SR T B AT T

&

and current year

ities

ey

o
o
o

o,

&

s on the bag

VA 82 N

raiall % oTERET Ul “ '{ﬁ‘?"z :%'5
7w &g e ¥

T, @ (B) uTog §
T EEITRE

Which condition is not satisfied when there is
absence of 'smm: 58 7

{A) The values of mean, median and mode are
wém@a,

(B d curve.

(< e median.

) ‘i"é}ﬁ s of (Js&/z& ions from deim or mode

ferserar o %g@f%@?* = Wi W9 W e o &
(&) mreT, TS ¥ GEEG B AT 99 0§
(B) wilepsl ¥ YEmTY HEGAT 9% U BT €
Hege § gt % WM EEE g0 W e ¥
T AT Fgee § [0 T REEE e O

Before the questionnaire is used for the
inve St;gsam* its suitability should be tested by

ning a _, and if some deficiencies or
*‘“gius are found necessary changes should be
made to give it the final shape,
(A} Project survey (B) Sample survey
{C) Census survey (D) Pilot survey
GeE B STEEE B A UE By ¥ ud, 1

WT@WTEQ&T%T%'“(@%Q@T
T OPT MY 9r B % SN UT ugHTEe) o
Hgf%ﬁﬂ%éﬁ wY W ifan @y R e
A) i @l (B) st wdam
C) ST waEeT (D) wEee gdem

N

MNon-sampling errors can occur only in :

{4} Sample survey

{E\} {ensus

(C) Both sample survey and census

(D) Meither sample survey nor ceasus
Tr-vloeew e P & @ fowd vl s owee ¥ 7

{

AN

(B) ST

(C) v § wiast <mf #

7 @ giewsl @& ¥ ot W € S

78

75

80

e g o B 2015 % T

EIRUC TAERE
5y LA i }
2010 1‘-32‘ SUHEAT BT S Z
- nl o Pl L R
gee 200 8 E{C‘é T @ o ghe % g o

giagid & s @, Sue wife oy we wiRy -
(A) T 2,400 (By ¥ 2,750

{C) : ,.,J\){} @3; % ? 060

The price of an article which was € 150 in
2015 increased to % 300 in 2018, The increase
in 2018 on the base year 2015 was 100%. So by
using 2018 as the base year the decrease in

2015 should have been -

150 <, 2018 %
T 300 8 7E1 2015 % enem U Sy 9 @ geen
¥ 2018 % 7w gha 1%%%%@%%;@1@ 2018
W YR "Ee 2015 § ol @1 wfaew 9w e
e

{A) 100% (B) 150% (C) 200% (D) 50%
There are two urns. Urn I contains 1 white and
6 red balls. Urn I has 4 white and 3 red balls
One of the urn is selected at random and a ball
is drawn from it and found to be white. What
is the probability that it is drawn from th
A wuy ¥, usw wmwel & | 9% oK 6 @i A §
gEX WOl W 4 whe ok 3 Wi AT ¥ | U% pay

¥
P Urn.

g T%s 1 & ¥ | T wilmsa § s 9 vew ey
& Pl & 7

wl @l ol o
&4 )5 Rt K}E

A bag contains 5 white and 3 black balls. Two
balls are drawn at random one after the other
without replacement. The probability that both
balls drawn are black is -
HINESEEE I3 el NS T 1 U8 & Y U
e ghes w9 o R galew % 2 e Pl
el ¥ 139 P T 2 W6 % sl 8 1 aiked
T -

i PN 2 PR
Wy B3 ©F O3
[PTO



81 Circular test is satisfigd, when -
e ThET SRR BNl €, S -
(A) Poy x Pygx Py =1
(B) Poy x Py < Pp=
(C) Pyg X Pyg % Py = 1
(D) Poy x Py x Pyo= 1

82 If the sum of squares of difference of ranks
given by two judges to 8 students is 21, then
the value of rank correlation coefficient will
be-
af 8 Ryenfi @ & s $ E & TS B &
T % At w1 ar 21 B, a1 wie EEd e 6
TR B
(A) 0.7 (B) 065 (C) 0.75 (D) 0.8

83 For regression line of y on x as per least square

method -

(A) Sum of squares of horizontal deviations
should be minimum.

(B) Sum of squares of vertical deviations should
be minimum.

(C) Sum of squares of deviations should be

Zero.
(D) Sum of squares of deviations should be

greater than zero but less than one.
Waﬁﬁ:&l%aﬂvﬁymxwﬁmmw
% o —
(A) &iftrer el 3 ST ot SiTg <A B AT |
(B) mﬁwﬁ%aﬁwﬁgwma&m
(C) rarer =t &1 S5 g B AT |
(D) fererert ot 1 wire g & ol A T W
%Y B AT |

84 The selection of Cricket team for world cup is

called :

(A) Random Sampling

(B) Systematic sampling

(C) Purposive sampling

(D) Cluster sampling

fige @Y F Tu Repe S 1 WU HE SR
(B) H9ES i

85 The relationship between x and Y is

y =3x+4. The correlation coefficient
between x and Y is:
xay smATEy y=3x+4 T AW xTY
% & TewwRY E B0

3

)7

-1 ®1 (SR

67 (1931)] =
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87

88

89
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%6 Binomial distribution is -

(A) A probability distribution.

(B) Also known as Bernouli distribution.

(C) Both, A probability distribution and also
known as Bernouli distribution are true.

(D) Both, A probability distribution and also
known as Bernouli distribution are false.

froe o7 §

(A) U Wil §T

(B)aﬁiﬁ%a‘méﬁw%%ﬁwm% |

(C)wméﬁ@ﬁaﬁﬁéﬁ%ﬁwé%ﬁ
ST E, el 9§ |

{D}@qﬁwéﬁ@ﬂﬁﬁﬁéﬁéﬁw%%ﬁ
ST S ¥, Al e €

Tor a positive skewed distribution curve

ST RITEET €29 % 9% &% (Y

(&) O +0r>20, B O+ >2
C O+h>D D) -2 >4

For a Poisson distribution -

(A) mean and standard deviation are equal.
(B) mean and variance are equal.

(C) standard deviation and variance are equal.
(D) both mean and standard deviation are equal.
" and mean and variance are equal.

oiqee de7 & Y -
(A)mw@ﬂmﬁww@%% x

(B) =reg Sii Ry JUE B E |

(C) wemg frae T JEIT TN B

(D) e of e free SUET e ¥ 1 Sl A

Which of the following is not the property of

binomial distribution ?

(A) No. of trials (n) is fixed and finite.

(B) Trials are independent.

(C) Probability of happening of event varies in
each trial. ‘

(D) It has two mutually exclusive outcomes.

frer ¥ ¥ AW & fashwan fue de A TG R 7
(A) w2 wem Rt ik o @ ¥
(B) wlem @a e ¥ |

(C) T % e B i w ThE § s

g
(D) g a1 W SEE! A B ¥

Which sampling design is most appropriate for
cluster sampling ?
(A) Simple random
replacement
(B) Simple random sampling with replacement
(C) Quota sampling
(D) Stratified random samplin
Ty icrerTs a%r? 1 YT T
it Suged & ¢
(A) wiwem® Wea &% argheme e
(B) wftrenmow wfeq wxw AGHE® PINEE]
(C) Pramiar wheraa™
(D) wifa agfeds wid=a

sampling without

[ PT.O.

21 In normal distribution moment coefficient of
skewness is
T 'y i ~ e T
GETARG faaT W frvEer w1 uitEr e e §
Ry -y I
Ay 1 {By 0 &y 3 (D) e

92 Binomial distribution is negatively skews:

when:
e sen ¥ mones v B %, We

(&) P=0 (B) P>= (C) P<% (D) p=

93 Which relation is correct in these three index

numbers 7

(A) Laspeyre's index > Fisher index > Paasche

index

3 maypreo 1 1ot i

{B) ?asgwyze‘s, index > Fisher index < Paasche
index

(C) Fisher index > Paasche index > Laspeyre's

index

index

A qEete ¥ oF ey g8l ¥ 7

(A) wEET gEHie > I gEwmis >
Y GIBIB

(B) WERR YEwmie > M qEHE <
TS B -

(C) T gEpiss > WSl & >
AT GhHIH

(D) MR YEhis > AaT GEHis >
Y GIBIH

: .
94 If x and y are independent random variables,

then £{xy) is equal to :

aft x of y T argfes e, @ £ (xy) suet

& % :
s (&) E(x)+E(y) (B) x-E(y)
©) E(x)-y (D) E(x)-E(y)
95 is used in the circumstances when the

ar}ivei‘se is not well defined and the sample units
which are also not distinct.

(A} Purposive sampling

(B) Convenience sampling

(C) Quota sampling

(D) Extensive sampling

_ oW uitRufoEl & sunn o ol ¥ e wn
W wY ¥ IRkeie 7 € o uRwat seEat o

W A B
(A) sRER wfeas (B) ghreamEr wiwee
(C) iwdsn i (D) Toega whermm

67 (1931)]

(D) Fisher index > Laspeyre's index > Paasche

: b -
5 500WwWn as |

X and

e ang X
ol wrer = ok ey e ey A D

i srenl o wioTwe 9 o Wiy X T oy uuy

b
e 1

- s we et
mer X XA X @ X W w e

bl

iz §

(A X >X By ¥=X

i camrs f

~y v ks
€ X< X

{A) It lies between ﬁxs' fimits of —1 and +1.

(B) !

(O 1

(D) It is used to
relationship.
£y g .

?‘c‘i Rl % ey unies @ fastaw @ o wel

(A) 3T 79 ~1 T +1 o drmel & 9w ¥

B)wgwg mm A @ g

(C) v =% W & A 39 7 9 Bl § |

(TN

(D) & BTNV TREY B TG BT 5 TG
s STrer &

98 Which one is not an essential element of
sampling ?
(A) Dependence {B) Adequacy
(C) ﬁomog@n@ity (D) Representativensss
e % 9 B w1 ukae @ saegs 9w TS Y 7

(A) T (B) uatear
(C) gwETan (D) wfafhemn
99 In sampling method, sampling error i

e
ﬁrs§ estimated and then size of the sample s;
decided accordingly. '

{A) Systematic (B) Stratified
(C) Sequential {D) Multi-stage
_ Fredm v ® ved fres Rrym @ e
;{m TG YR I est @ e MiYaw s
| .

(A) =Taiyg (B) @@
(C) ergettien (D) wgwrlm

100 'On which assumption the Karl Pearson's
coefficient of correlation is not based 2
(A) Linear relation between variables
(B) MNormality in series of variables
(C) Causal relationship
(1) Asymmetric frequency distribution
It R o1 ey oTie fRE ST O ST
TE 7
(A) 9 & v W Ty
(B) = & ity o garrgan
(C) BT Ty

i1

(D) sremim oMgra e

.=
-3
:
¢



54

gl £
{Aa} Hin éu ism {B) Jainism

(C) Buddhism (D) Persian
CTBYT R ik e W ¥, el g § -
(A) g & & (B) % =t 3

(C) 9 v 9 (D) ureey ud @

: r

103 During whose reign was Albert Hall of Jaipur
inaugurated 7

(A) Maharaja Ramsingh [
(B) M”har&ja Viadhosingh 1
(C) Sawai Mansingh Ii

() Maharaja Eaéséngh H

TG % SR BIW T SQUIeT 6% T §
BT AT 7

(&) weToen wwids fadw

(B) =TT weifie fadm

(C) v =i e

(D) werrsn waids gam

184 Who founded the India House in England ?
{A) Arjunlal Sethi
(B) CGopalsingh Kharwa

(C} Swami Kumaranand

(D) Shyamji Krishan Varma

gTs H BT EO9 @ wuer feey ey ?

(A) o (B) mumRis e
(C) = oo (D) yrast e guf

105 Who was the Maharaja of Jodhpur at the time
of Rﬁvﬁi of 18577
(A} Man Singh (B} Jaswant Singh 1
(C) Ggj Sing,h (D) Takhat Singh
1857 %1 wifa & T99 STUYT BT TSI S a7 ?
GV EHISES (B) weaaRE EaE
(C) TRz (D) weaiie

166 Who from among the following propagated the
problems of peasants of Sikar through the
newspapers Tarun Raéas‘ihan and Dally Herald ?
(&) ’”‘%@aud%sary Harlal Singh
{B) Chaudhary Laduram
(C) Heeralal Shastri
(D) Ramnarain Chaudhary
Pl ¥ ¥ e aew uwem wg ) YR
THTETCOS @ AT @ WY & Real o wmeel
@ vl fear ?
(A) =gl TwERE
(C) e gt

(B) <ol s

(D) T =

67 _(1931)] == 12

107 Which among the following famou
not in Jai pw district 7

(A} Saat Saheli Temple
(B} Tadkeshwa Temp?a

(Q} Galta Shrin

{D) Jagat Shir maﬁé Teraple

Tt ra’%ézﬁ‘ a1 giaE T SR e ¥ w6
g7

(A) oTa Tee wheT  (B) aisheay mfe

(C) werar @ (D) wrre (el mhey

168 Which among the following tourist places is
not in Alwar distriet ?
(A) Bala Quila
(B} Musi Maharani ki Chhatri
(C) Neelkanth Mahadev Temple
{5 Abhaneri

Frefolea & @ @ @ W W ot B ¥ A

7
(A) Srew- e (B) =& were & walr
(C) wwmis weky #RY (D) el

109 Which inscription tells that the Chauhans are
Vatsa Gotra Brahming ?
(A) Bijolian Inscription
(B) Chirwa Inscription
(C) Ghosundi Inscription
(D) Saraneshwar Prashashti

forer orftrere # deTl @ e i @7 STEreT @R T

% e
(A) eeifeat ot (B) dren R ,
C) aﬁgﬂé*r e (D) groyEr wata

118 Which C?}auhan ruler of Ajmer slew his father
to become ruler ?
(A) Arnoraj (B) Vigrahraj IV
(C) Pruthviraj I (D) Jaggadeo
SR % fos dlem srew ¥ aes S 5 R ot

forem o e W ?
(&) e (B) famsuw =g
(C) gt wem (D) s

111 Who took over the leadership when Sanga was
injured.in the Battle of Khanva ?
(A) Jhala Agga {B) Jhala Rac
< Jhala Sajia (D) Shakti Singh
CIREH g@ﬁ' T % TR BN X g Reaw g

ar 7
(A) T SrosT (B) s 9
©) mm (D) vl i
112 Where is.the Cenotaph of Maharana Pratap
located ?
{A) Bundi (B) Gaitore
{C) Mandal {I) Bandoli

RN UATY & OOl S8 RUg § 7
(AT B)RR (O mmsw (D) Treew

[PT.O.

s temples is

113 Who was
{A} Saint Lal la
{C) Saint Haria
Frioey TER™ @
(A) gg wiwEE RRENEETG]
(C) &a e {@}z g P

114 Which region of Rajasthan is famous for Theva
3

§

/B; «{%mg rh

(C) Fatehpur D E,axmaﬂgai'i

) N ,
T G B u 8 ?%7"5 EZg 65 P"T’?’ [
{A) e (B) TS

(C) HeB gL )] FETE

115 Which of the following works was composed
by Suryamal Mishran?
(A) Veer Vinod
(B) Veer Satsai
(C) Chetavani Ra Chungtya
(D) Rajvilas
%ﬁﬁ%ﬁ@'ﬁﬁ@fm@r@mzﬁww&w
B %l LAy 7

(A) 9T o e (B) I H‘P’s
(C) zramrem © g (D) ‘m?‘vrr{:

116 When was Matsya Union inaugurated 7
(&) 18 March, 1948 (B) 25 March, 1948
(C) 31 March, 1948 (D) 1 April, 1948
qeey Gy B IEEEH B O 7
(A) 18 =g, 1948 B 25 arE, 1948
(C) 31 =4, 1948 (D) 1 ofrw, 1948

117 Who founded the Mahila Asham at Bhilwara
before independence ?
(A) Narayani Devi Verma
{B) Ratan Shastri
{(C) Shanta Trivedi
‘ (D) Satyawati Sharma
ST qd e ¥ aitwn et @ TTOAT fema
@ 7

(A) W & 3st (B) W @ﬂ’@?f
(C) wiem B D) Wrcﬁ o

118 Dayaldas, the famous author of Rajasthan, was
patronized by -
(A) Maharaja Jaswant Singh
(B) Maharaja Ratan Singh
(C) Rav Anoop Singh
{D) Rav Karan Singh
% URTE WE® TUEE B Gy O 9

S

ES & —

(A) TErTen SEEanRE (B) "ER s
(C) < SrutE (D) < wruiie
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NN
IS HCEAR AN G IS
HYE T TE 7
(A g

- £ A -
(C) Redwmm

o 1
126 In whose

?A} [GEASEY
(C) smesrel

121 Mahamaru style of temple
patronised by .
\A Guhil
(&L ")raia?*af

(A gia

122 Who was appoint
after the death of
(A) Miskin Das
(C) Ra jaD £
g ST % M % U REEHVC gk&% T S
fener Frgea fesar T o 7
(A) BlRew s ({
(C) ooy

123 Which one of the
belong to 8%&%8? b
{A) :ahah Muhamn
(C) Manohar

51}\ /%51’%2

r=fiiae ¥ @ 29 @ wer Seet Ruew O
¥ wehag T % 7
{A} Sﬂ%’ s\';g e

(C) =Y

124 ‘Hamir Hath® s
{A) Karnidan
() Chandrashekhar
TR ¥S % waEwm & —
(A) wreliEm
(C) Tr=EerEy

125 ‘Halro™ is worn by -
(A) Men on their arms.
(B} Women on their
(Cy Women on their forehead.
{i‘“‘s Men on their head.

7 TR W ¥ -
(A; gmﬁ UG Sy
(B) wftwmell &ro e oY
(C) witemall &1 W@ 9%
(D) gow BT WY W)

o)
-
]



126 ‘Beneshawar’ is located at the confluence of
three rivers. Which of the following is not one
of them 7
{A) Banas
(C) Som (D) jakham
Fogey qF AR F EE R erafad ¥
g o ¥ @ O e 39e ot T ¥ 7
(AT Byw@ (O wm (D) Wy

{B) Mahi

127 At present which of the following districts of
Rajasthan is included in the National Capital
Region (MNCR) ?

(A) Alwar and Jaipur

(B) Jaipur and Dausa

(C) Bharatpur and Dhaulpur

(D) Albwar and Bharatpur

T F, Y ¥ T 3 e ¥ e oy
A &5 (THELeR.) ¥ gitafaa ¥ 7

(A) sET ud sEgl (B) SUYT w e

(C) waqR wd g9y (D) oax T 9iayR

128 The vegetations of desert is known by the name
of -
(A) Desaphytes (B} Zexaphytes
(C) Megaphytes (D) Xerophytes
AERRE aetodl f5g W ¥ W oy ¥ 7
(A) SemHEd (B) SeaTHRTd
(C) wmeREg (D) SUsrEeE

129 Which of the following districts is not a part of
Arid-plains agro climatic zone in Rajasthan ?
{A) Bikaner (B) Pali
(C) Jaisalmer (D) jodhpur
rrefafes o & @@ w1 e g JTr i ey
YRS W W TE ¥ 7
(A) ST (B) T

(C) SaaT (D) ey

130 Which type of sand dunes are found at
Jaisalmer?
{A) Barkhans {B) Parabolic
(C) Longitudinal (D) Transverse
et ¥ Y T % S |U Y W § 7
(A) wt@m™ (B) wEwie
(C) e (D) e

131 Bankli Dam in Rajasthan is built on which
river ?
(A) Bandi (B) Jawai (C) Luni (D) Sukri
TR &1 Siehell a1 {69 & a1 & 7
(A st (B) saEs (O) ot (D) T
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132 The oldest National Park in Rajasthan is -
{A) Ranthambhore (B) Sariska
{C) Keoladeo (D) Mukundra Hills
TSR & ey TEd! TS U § -

(A) TUEET (B) aften
(C) ammea (D) wew e

133 In Rajasthan ‘Pustikar’ is related to which of

the ;O;iowmg sector 7

(A) Electricity (B) Health

{C) Water () Minerals

e ¥ gRem @ vy fretaien ¥ € few
B WE 7

(A) T

134 Central Sheep and Wool Research Institute in
Rajasthan is located at -
(A) Avikanagar, Tonk (B) Sanganer, Jaipur
(C) Pushkar, Ajmer (D) Pokhran, Jaisalmer
TR o e NS U B9 SEY TR %l Ut
srafem ¥ 7
(A) SrfasT, 20
(C) geat, ST

B) mrem (C)ww (D) wfr

(B) 9T, SRYT
(D) drETe, SEeHT

135 ‘Mangla Oil Field’ is located in the district of:

{A) Jodhpur (B) Pali

(C) Jalore (D) Barmer

e aa & B fre A Rem t aw ¥

(A) Sige (B) it (C) wiwik (D) 3@‘{

136 Aravali afforestation project was started in the
year -
STEE garIa gREsT fh 9 ¥ urew gg ?
(A 1993 (B) 1992 (C) 1994 (D) 1990

137 ‘Dabok’ Airport is located in which district of
Rajasthan ?
(A) Bikaner (B) Jodhpur
(Cy Udaipur (D) Ajmer
B’ AR OTET USRI & fhe v A eratieq ¥ 7
(A) ST (B) WiggY (C) J89gT (D) ey

138 Which of the following Isohyet line divides
Rajasthan into two regions ?
(A) 50 Centimeter (B) 55 Centimeter
(C) 110 Centimeter (D) 100 Centimeter
e & @ wm O wma! T USRAE o S e ¥
v sl 5 7
(A) 50 ¥Ry
(C) 110 ¥drirex

(B) 55 ¥ddrex
(D) 100 ¥&rdex

[PT.O.
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139 Which type of the following soils is specifically
found in Western Rajasthan ?
{A) Aridisols (B Alfisols

{C) Entisols (DD} Vertisols

e geel § ¥ wm W e ol uweny ¥
fafdrew: o s & 7

(A) T (B) swnidicd
(C) TrEiee D) adfafe
ey 7

140 First Eco Friendly Zone of Rajasthan is -
{(A) Udaipur B) Mount Abu

(C) Banswara (D) Dungarpur

TSRU 1 g wiRufie e g em k2
(A) ST (B) =mgve s

(C) wiwrmet D) g

141 The train service in Rajasthan began from Agra
Fort to which place ?
(A) Amer (B) Baswa
(C) Bandikui (D) Alwar
T T &l 98l (@ 0 B ¥ Hel 9%
e §F 7
(A) st (B) waar (C) aidigd (D) s
147 Sagwan is found in which district of Rajasthan ?
(A} Sirohi (B) Udaipur
(C) Banswara " (D) Baran
TSR W fee T o anEm e s ¥ 7
(A) R (B) seage (C) siwemst (D) s
143 In which region of Rajasthan ‘Entisols™ group
of soils are found ?
(A) Western (B) Eastern
{C) Southern (D) South-Eustern

W%ﬁ‘au‘&sﬁf T E W Ter us

w7
(A) ufverh (B) T
(C) e (D) Rt

144 Winter season rain in Rajasthan is known as -
(A) Kanthal (B) Manwal
(C) Mawath (B) Dhokda
REEIEICEIE I i el i T o
(A) ®iaw (B) wimw (C) wm@s (D) giest
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£ ity £ o
@T«T‘%:‘” % ¥ mE a far deegr e @
- F 7
WD WY U T ST W 7
et} 5 .
(A) 2w (B) weT§ WU
(C) &Y (D) wyguy

146 Which of the follc ,wmg sanctuary is known for
‘Grey .rufgif} Fowi
(A} Kanaksagar (B) Mount Abu
(C) Seetamata () Tal Chhapar
Fretatga o @ @F o s S g %
e ¥ 7

(A) HTHITTT (B) wrve oy
(C) e (D) T BT

147 World Ozone Day is celebrated on
(A) 10™ August (B) 16 September
(C)y 22 May (D) 22”d June

faeg ofsm R @l AW s @
(A) 10 st (B} 16 fuawse
(C) 22 =d (D) 22 5

148 Kalkaji and Kawala have the reserves of which
of the following minerals in Rajasthan ?
(A) Limestone (B) Marble

(C) Granite (D) Clay

TS & HIasl o &ae § 59 g &
qUSTT & 7

(A) 1w (B) wrw

(C) e (D) = (Rt o)

14% Which of the following sheep produce maximum
wool 7
(A) Chokhla {B) Poogal
(C) Malpuri (D) Jaisalmeri
Frfafed ¥ @ o O 9% ofie o9 sae & fag
fremm & 7
(A) e (B) g
(C) =gl (D)

158 ‘Taanka® and ‘Khadeen’
{A) Tribal warfare
(B) Tribal dialects
(C) Traditional agriculture systems
(D) Traditional water conservation structures
T AR CEI T E -
(A) Fnieardl geamieTe
(B) arnfear aifermt
(C) vome By usfoat

(D) T wie e 9eEa
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